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i RFE  |fEEXE 40 40 450 450 980
2|t¥ A% [ERXE 400 79 160 300 939
A HIFE  [BEAEXFE 400 300 160 860
4R EEH [fBEXZFE 600 21 20 20 661
5| Kith EEFRFXZE 200 60 160 160 580
6|H L FRE [EREXEFE 200 40 300 540
11FH =X |BEAFEXE 200 40 160 40 440
8|l FHE [BEXZFE 200 80 80 360
IE BAB [EEXE 20 11 40 160 231
10[3%F &1 | RIBERXE 40 11 80 80 211
1|EN HE [BEREEXE 40 160 200
12|#K A ABRKKZE 40 21 40 80 181
BlEE 5 [AMHATXE 40 6 40 80 166
14|f8/7 ERE |[EBREXZE 40 80 20 140
15[5kH#H BA |BEXRFEKXFE 6 80 40 126
16|AP =X |[fBEXFE 2 80 40 122
17|ty EHR  |[BEAXE 40 21 20 40 121
18KH ## [BREXFE 20 20 80 120
19|58 EBE [EBEXFE 20 6 40 40 106
205 BAB  |fERKZE 20 2 40 20 82
20[1£/% fRAER |AMHEITKE 20 2 20 40 82
22|78 Bt |BERAEAFE 20 20 40 80
22| EA BEERFXE 40 40 80
PZAN=T: I N PR BN 6 40 20 66
24|40 [BH fEE K 6 40 20 66
4% B |AEEFEREXFE 6 20 40 66
27|53 HA RIGEREXZE 2 20 40 62
28|E)Il #Eth  |fEREKXE 20 40 60
28|HR I M HEIIKEF 20 40 60
0/EK BEE |EEBFEAZE 20 11 20 2 53
SI[ERR BT |RBERAXE 11 40 51
3|k FHE |AEEFRAFE 11 20 20 51
B = Hth |EXRFEAFE 6 20 20 46
BRA 1&EH | AMHEITKFE 6 20 20 46
IB|FE BEth | KHKFE 2 20 20 42




35| AF M [EEKE 2 20 20 42
35| 1HEE AEFERXE 2 20 20 42
BIRK BA | AMHATXE 2 20 20 42
35[;I88 HRE |[AIMHIZIKE 2 40 42
40| =5k ZH BBk K= 40 40
40[HO FN8L | hMHEITKFE 20 20 40
40|78 RFE AEFRKE 20 20 40
40[FBFT KE | AMHEITKE 20 20 40
44| KA BN | AMIEXFE 1 20 31
45|58 B2 |BEBFEXZE 2 2 20 24
45(8HFH Bz |EEXEFE 2 20 2 24
47| KAR 18 | RIEKF 1 2 20 23
47(%)Il 1@ YT ALYU RS 1 20 2 23
475Kk B8k |BEAKEXE 1 2 20 23
505 H K% |EEAKXF 2 20 22
51[AH & LN T K 20 20
51|AF KZE  |AMHKIKXE 20 20
511X BEr  |BEAKBEXE 20 20
51| Bl Xt | AMHBIXRE 20 20
517kt BEX |fREIEXF 20 20
56|#EH Eth |[BEABEXFE 2 2 2 6
56[AIG AR |ABRKE 2 2 2 6
56|Faft #BE |[EEXFE 2 2 2 6
59|41 E FEF |BEAKRKZEEZER 1 2 2 5
59|tk NE |[EAFEKRZFE 1 2 2 5
59|AK &3 |[tEBX¥ 1 2 2 5
62[AK F AWK FEEFE 2 2 4
62EER BA |[EAFEKXZFE 2 2 4
62|11k =ik |[REAKXE 2 2 4
62|FFE X |[RIGEKRKZE 2 2 4
62/hl =X | XA KE 2 2 4
62|IE = RIGEREKZE 2 2 4
62|18l ik |[ABEX¥ 2 2 4
62|55 AR |FEREFREAE 2 2 4
62|HH XE |ABXKKZE 2 2 4
62|=F BEE [usmrorATRAE 2 2 4
62|Fp4 |3 [ AINHIKRFE 2 2 4
621K K& [AINHIXRE 2 2 4
62| AT iR |EIRKE 2 2 4
I5|RTH B | KOKRFE 1 2 3




75[#8 4 e NINKZEFS 1 2 3
5| KE = |EREFREXFE 1 2 3
5|58 BT |BEREXFE 1 2 3
5(lUZA KZE | KE 1 2 3
5|2 B8 | AMEEXRFE 1 2 3
5|4H EE | AMEBEXE 1 2 3
82| T2E EH |[ERESEEREXE 2 2
82|#i K —#8 |[{EBXF 2 2
82|ARE BN [EHAIEXZE 2 2
82| THE Bk BEREXE 2 2
828 A |BEFRAF 2 2
82[E# X |BRSEEXZE 2 2
82|pE FE | AMHAIKE 2 2
82|EH* & REAKE 2 2
82[h#t EF |BREBXF 2 2
82| EHI R ABRKKE 2 2
82[5iid RiE |BREBXF 2 2
82[iHA FX |BRSEEXZF 2 2
82[F# —H |EEAFEKXFE 2 2
82|5H L |BEIEXE 2 2
82| L% {5 fREHE KF 2 2
82|%0 & LA IN T I KE 2 2
82|IUA 5B  |RIFvIRLYU K 2 2
82|p#A it | RIBEIRAE 2 2
82| KF Eth [AMKE 2 2
101|AF AKX [dEAMBILKRE 1 1
101[ KA EH | AMEITKFE 1 1
1013k #58 |ERFEAZE 1 1
1010 #E | KHKF 1 1
101|758k KiE [ KOXF 1 1
1012 K BR [KXHGKXF 1 1
101|158k MF | KHKF 1 1
101|WR FHE | KO KRZF 1 1
101/MHE F— |[BEREXZFE 1 1
101|188 #hEk  |[BEREXZF 1 1
10151 g |[BEREXZFE 1 1
UIEI /N EAMHTILKRE 1 1
101|KIE BIE | AMIEXRE 1 1
101 (BRI FEth | IEXF 1 1
101 (&)1 18 A TERE 1 1




101[#HE =& | AMKZEEZFH 1 1
101587 3K NINKZEFE 1 1
101|#8H BARR [EAZFEXZE 1 1
10138 &X EAKRZEZE 1 1
101388 FE |EARFEAZE 1 1
101 (%% BRI REARKZF 1 1
101[H#HO 8% |BEAKXKFEFH 1 1
101kt EiE  |ABKKE 1 1
101|pamg HE—BR [EBXRZ 1 1
101|B)Il #&3 |[EBXF 1 1
101| XA Rt [(EBXF 1 1
101|&8 BB |[fEBXF 1 1
10111 thic  [(EBEXF 1 1
101|BdE KR  |BEEFRAF 1 1
101|HF Fith |GEBEEFAF 1 1




